Problems Lecture 2: Static and Dynamic Imperfections

1) A linac that transports a beam with very small vertical and large horizontal
emittance suffers from quadrupole vibrations. All quadrupoles have the same jitter
amplitude. Unfortunately due to budget limitations only some quadrupoles can be
stabilised. How should the quadrupoles be selected for stabilisation? You can
assume thin quadrupoles.

2) A transport line consists of a FODO lattice with quadrupole spacing L, and focal
strength f,. The line is rebuilt changing the quadrupole spacing to L = 2L, and
the focal strength to f = 2f,. How does the quadrupole jitter tolerance ¢, change?

3) A transport line with no acceleration is built from FODO cells with 90° phase
advance. The first two focusing quadrupoles are used as correctors, in the centres
of the next two focusing quadrupoles BPMs are located. Write the response matrix
for the correctors (thin lens approximation).



Solutions

1) We need to stabilise the beam in the vertical plane since the emittance is much
smaller in this plane. The angular deflection by a quadrupole with offset d is
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Solutions

2) Since the ratio of focal length to quadrupole spacing remains constant (f/L =
fo/Lo) the phase advance per cell remains constant. Therefore the beta-function
IS now twice the original value ¢ = 23,. The multi-pulse emittance growth due the
jitter for one quadrupole is
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The emittance growth per length of the line is given by
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from the scaling we calculate
0q = 2040
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Solutions

3) We can calculate the response matrix R by going into normalised phase space
and out again. The kick of moving a quadrupole by ¢ is

0
Ay = —
YT
in normalised phase space
) 0
Ayy = \/E?

we consider that the phase advance of the first corrector to the first BPM is 180°
and two the second 270°. Hence we find at these locations

Ayy =0
and
Ayny = \@?
respectively. We transfor back into normal phase space and find
Ay =10
and
Ay = ﬁé
f

Similarly for the second corrector. Hence we find

R=1;
20
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